
 

■ 次の角柱や円柱の体積を求めましょう。 
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角柱や円柱の体積 
年     組 名前 
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■ 次の角柱や円柱の体積を求めましょう。 

① 

 

 

 

 

 

  底面積 

  4×13=52 

 

  52×9=468 

④ 

 

 

 

 

       底面積 

       4×4×3.14 

=50.24 

 

       50.24×10 

=502.4 

② 

 

 

 

 

 

底面積 

8×6÷2=24 

 

24×11=264 

⑤ 

 

 

 

 

 

底面積 

6×6×3.14÷2 

=56.52 

 

56.52×11=621.72 

③ 

 

 

 

 

 

底面積 

(11+15)×9÷2 

           =117 

 

   117×9=1053 

⑥ 

 

 

 

 

  

底面積 

7×7×3.14÷4 

=38.465 

 

       38.465×7 

          =269.255 

 

角柱や円柱の体積 
年     組 名前 

/ 6 
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cm3 264 
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cm3 621.72 
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